## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

## ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32924	API No. 15 - 185-23490-0000					
Name: Gilbert-Stewart Operating LLC	County: Stafford					
Address: 1801 Broadway #450	SW _NW _ SE Sec 28  Twp 21  S. R 13					
City/State/Zip: Denver, CO 80202	1850' FSL feet from Ø / N (circle one) Line of Section					
Purchaser: NCRA	2610' FEL feet from Ø / W (circle one) Line of Section					
Operator Contact Person: Kent Gilbert	Footages Calculated from Nearest Outside Section Corner:					
Phone: (_303) _534-1686	(circle one) NE (SE) NW SW					
Contractor: Name: Murfin Drilling	Lease Name: RLS Well #: 5					
License: 30606	Field Name: Gates					
Wellsite Geologist: Adam Kennedy	Producing Formation: Arbuckle					
Designate Type of Completion:	Elevation: Ground: 1902' Kelly Bushing: 1913'					
✓ New Well Re-Entry Workover	Total Depth: 3850 Plug Back Total Depth: 3817'					
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 333' Feet					
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No					
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet					
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 3850'					
Operator:	27501 150 eve					
Well Name:						
Original Comp. Date:Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)					
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 10000 ppm Fluid volume 320 bbls					
Plug Back Plug Back Total Depth	Dewatering method used Haul & Fresh Water					
Commingled Docket No						
Dual Completion Docket No	Location of fluid disposal if hauled offsite:					
Other (SWD or Enhr.?) Docket No	Operator Name: Bob's Oil Service					
*	Lease Name: Teichmann License No.:					
12-1-2007   12-11-2007   1-2008     Spud Date or Recompletion Date	Quarter Sec. 16 Twp. 22S S. R. 12W East 7 West  County: Stafford Docket No.: 23722					
Kansas 67202, within 120 days of the spud date, recompletion, workd Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline to TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged we All requirements of the statutes, rules and regulations promulgated to reg	with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-gs and geologist well report shall be attached with this form. ALL CEMENTING alls. Submit CP-111 form with all temporarily abandoned wells.					
herein are complete and correct to the best of my mowledge.  Signature  Date: 4-21-08	KCC Office Use ONLY  Letter of Confidentiality Received					
Subscribed and sworn to before me this 212 day of April	If Denied, Yes Date:					
20 687	Wireline Log Received KANSAS CORPORATION COMMIS					
20 000	Geologist Report Received					
Notary Public:	UIC Distribution APR 2 4 2008					
Date Commission Expires: My Commission Expires 10/03/2010	CONSERVATION DIVISION					
10/00/2010	WICHITA KS					

Operator Name: Gilbe	rt-Stewart Operati	ing LLC						Well #: _5		
Sec Twp1	S. R. <u>13</u>	East	✓ West	Cour	ity: Staffor	<u>d</u>	1			
INSTRUCTIONS: Sho tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowin very, and flow rate	g and shut-in es if gas to su	pressures, urface test, a	whether along with	shut-in pre	ssure reach	ed static level, hyd	rostatic pressu	res, bottom ho	ole
Drill Stem Tests Taken (Attach Additional S		✓ Yes	□No		<b>⊘</b> Lo	og Form	eation (Top), Depth	and Datum	Sam	ple
Samples Sent to Geole	·	✓ Yes	□No	Name			Тор		m	
Cores Taken	ogioai oui roy	☐ Yes	_		Lansing			3386'		
Electric Log Run (Submit Copy)		✓ Yes	_		Arbud	•		3734'		1
List All E. Logs Run:										
DIL/Por/MR		·································	CASING	RECORD	) V Ne	w Used				
		Report a				rmediate, pro	duction, etc.			
Purpose of String	Size Hole Drilled		Casing n O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and I Additi	
Surface	12 1/4"	8 5/8"		24#		333'	Common	335	3% CaCl;2	% ge
Production	7 7/8"	5 1/2"		15.5#		3837'	AA-2	150 sxs	10% salt	
			ADDITIONA	L CEMEN.	TING / SOL	IFEZE BECC	)RD			
Purpose:	Depth Top Bottom	ADDITIONAL CEMENTING  Type of Cement #Sacks Use								
Protect Casing Plug Back TD Plug Off Zone										
Shots Per Foot		ION RECORD			oe	Acid,	Fracture, Shot, Ceme		ord	Dont
6 SPF	3781-8	Footage of Ea				(Amount and Kind of Material Used)  SOO GAL 15% MCA				
	<i>5757 2</i>	<i>,</i> 21				200				
TUBING RECORD	Size	Set At	_	Packe	r At	Liner Run				
2 7/8		329 Enhr	3 1 Producing Me	athod			☐ Yes   ✓ N	lo 		
Date of First, Resumerd Jan 15, 2008	r roduction, SVVD Of	LIHII. [ 1	TOGUCING ME	IOU	Flowing	g 📝 Pu	mping Gas	Lift Otl	ner (Explain)	
Estimated Production Per 24 Hours	0il 75'	Bbls.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio		ravity
Disposition of Gas		COMPLETION				Production I	nterval	KANSAS C	RECEIVE ORPORATION (	) CMA
Vented Sold	Used on Lease	۲	Open Hole	<b>√</b> Pe	<u> </u>	oually Comp.	Commingled			~

CONSERVATION DIVISION WICHITA, KS



#### **Pratt**

GILBERT-STEWART OPERATING, LLC

1801 BROADWAY

SUITE 450

DENVER

CO 80202

ATTN:

**INVOICE DATE PAGE CUST NO** 1970-GIL010 1 of 2 12/15/2007

**INVOICE NUMBER** 

### 1970001260

**LEASE NAME** 

WELL NO. COUNTY

DEC 2 1 2007 RLS

RECEIVED

Stafford GILBERT-STEWART

STATE KS OPERATING LC

JOB DESCRIPTION Cement-New Well Casing/Pipe

**JOB CONTACT** 

JOB # 1970-01266	EQUIPMENT # 301	PURCHASE C	RDER NO.	TERMS Net 30 DAYS	DUE DATE 01/14/2008	
· · · · · · · · · · · · · · · · · · ·			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service D	ates: 12/12/2007 to	12/12/2007				
1970-01266			-			
· Yan	Camant Navy Wall Ca	-: 40/40/07				
Pump Charge-	Cement-New Well Ca	ISING 12/12/07	1.00	Hour	1680.000	1,680.00
Casina Cei	ment Pumper	105 KM		11001	1000.000	1,000.00
Cementing He	ad w/Manifold	134-	1.00	EA	250.000	250.00
Cement He	ead Rental	9308				
Cement Float I	Equipment /	a ske	1.00	EA	320.000	320.00
Auto Fill Flo	Cement-New Well Call Hourly ment Pumper ad w/Manifold ead Rental Equipment Down Plug & Baffle Equipment out Rental Equipment Down Plug & Baffle Equipment out Rental	KUSI -	4 00	<b>-</b> A	250,000	250.00
Cement Float I	equipment V	1/20	1.00	EA	250.000	250.00
Cement Float I	Equipment	11/22 - 1	8.00	EA	74.200	593.60
Turbolizer	-qaipineit	1/	1			•
Extra Equipme	$\mu$ nt	710	1.00	EA	150.000	150.00
Casing Swi	ivel Rental					
Mileage	mine Chause		175.00	DH	1.500	262.50
'Mileage	rvice Charge		90.00	DH	5.000	450.00
	icle Mileage		30.00	ווט	9.000	430.00
Mileage			361.00	DH	1.600	577.60
	nd Bulk Delivery					
Pickup	1.0 0.00		45.00	Hour	3.000	135.00
Car, Pickuj Additives	o or Van Mileage		24.00	<b>-</b> A	2 700	114.70
Cellflake			31.00	EA	3.700	114.70
	<b>~</b> 1 .	1 7-	48.00	EA	6.000	288.00
Cement Fr	iction Reducer STA	fust 1				
	3/1	'	29.00	EA	3.450	100.05
Defoamer			407.00		0.050	000.75
Additives FLA-322			107.00	EA	8.250	882.75
Additives		RECEIVED DRPORATION COMMISSION	875.00	FA	0.670	586.25
Gilsonite	4	RECEITION COMMITTEE	0.0.00	_, .		
Additives	SASHAL	APR 24 2008	1,087.00	EA .	0.250	271.75
Salt	<b>101.</b>	NOR 24 2000		4	4.500	4 500 00
Additives	h II	AL TION DIVISION	1,000.00	EA	1.530	1,530.00
Super Flus Cement	H, H	APR CONSERVATION DIVISION WICHITA, KS	50.00	FA	10.710	535.50
60/40 POZ		14	55.50		10.710	

# ¿ZLIED CEMENTING CO., INC.

31026

O. BOX 31 RUSSELL, KANSAS 6766	5		SER	VICE POINT:	end	
ATE 12-2-07 SEC. TWP.	RANGE	CALLED OUT 2:30 PM	ON LOCATION 4130 PM		8:30 PM	
LEASE RLS WELL# 5	LOCATION 281 + K	19,20 3	ω . <sup>N</sup> / <sub>5</sub>	COUNTY	STATE K <	
OLD OR (NEW) (Circle one)	LOCATION AND FR	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	/	OTANTOLA		
CONTRACTOR My f' #2  TYPE OF JOB Surface		OWNER G	lbert + Stewa	cust Operation	guc_	
HOLE SIZE 124" T.D.	335'	CEMENT	20 -	~· •	0.04	
Million and the second	тн 335′		RDERED 335	SX Common	3% CC	
TUBING SIZE DEF DRILL PIPE DEF		2% Gel			:	
TOOL DEF					مسعد حدد حفظا اخدادا	
PRES. MAX 200 # PST MIN	IMUM - <del>O</del>	COMMON_	-3 <i>35</i>	_@ <i>[].}D</i> _	3/18.50	
	DE JOINT 15'	POZMIX		_@		
CEMENT LEFT IN CSG. /3		GEL	10	-@-46.6D	466.00	
PERFS. DISPLACEMENT 20.38 BBLS of	fashwater	CHLORIDE _ ASC	10	@ <u>1018</u> 0	-700,00	
EQUIPMENT	100000	A5C		@ RECEIV	/ED	
EQUIPMENT				KANSAS CORPORATIO	ON COMMISSION	
PUMP TRUCK CEMENTER K	ck H.			_ @ APR 24	2008	
	wayne W.	and the second s		@	100000	
BULK TRUCK				@ <u>conservati</u> oi @ Wichita		
# 344 DRIVER Gaile	<u>, D.</u>	_				
BULK TRUCK						
# DRIVER	<del></del>	- HANDLING	345	<u> </u>	622,5	
,		MILEAGE 4	219.24	<b>&gt;</b>	F1171	
	Released phop an	-j	SERV	TOTAL ICE	<u> </u>	
displaced with 20,38 BBLS	of fresh weeks an		OB 333		01500	
shot in Cement did	Circulate.	_ PUMP TRUC	K CHARGE	_@ ,65	815,00	
Page Norman			TAGE 35	_@_,63 _@_6,00	18.00	
Rigged dwg.		- MANIFOLD		@		
		Head Re		@	100.00	
041	- 411 1.	-		@		
CHARGE TO: Gilbert Steward	•	<b>_C.</b> -		TOTAL	1015,75	
CITYSTATE	PLUG & FLOAT EQUIPMENT					
		1- 8% wa	oden pluop	@	60.00	
To Allied Cementing Co., Inc.				@		
You are hereby requested to rent cer	nenting equipment			@		
and furnish cementer and helper to a			•	@ <u>/</u>		
contractor to do work as is listed. T				ТОТАТ	60,00	
done to satisfaction and supervision	_	•		IOIAL		
contractor. I have read & understand CONDITIONS" listed on the reverse	*	, TAX				
COMPLITIONA INSTERIOR OF THE FEACIST	o sido.	ፕርተል፤ ርህል	RGE			
					. n	
		DISCOUNT		IF PAII	וע 30 DAYS און כ	
SIGNATURE X		X JE	remy &	tuckey		